Function name Abbreviation

sine of 4 sin @
cosine of 8 cosé
tangent of 6 tand
cosecant of 4 cscl
secant of @ secd
cotangent of @ cotd
“SOH CAH TOA”

Value
b/c

alc
b/la
clb
cla
alb

Reciprocal Identities

csct9=.L secl = cott9=L
sind cosd tan @
Quotient Identities
tan¢9=M cotHzC?SQ
cosd sin@

sin> @+ cos’ O =1

sin> @+ cos” O =1

tan’ @+ 1=sec’ 0

1+cot?@=csc’ @

6 (Degrees)
sin 6 = cos(90° - )
cos®) =sin(90° - 0)
tan ¢ = cot(90° - 0)
)

90° -6

(
cot@= tan(90° -0
secl = csc(

(

)
csc O =sec(90° — 6?)




6 (Radians)
sinf = cos(7/2 - 6)
cosf =sin(7z/2 - 6)
tan @ = cot(7/2 — )
cot @ = tan(z/2 - 6)
sec = csc(7/2 - 0)
csc = sec(7/2 - 0)

T b 1 2
45 == - —_= =
sin sm4 =5,
7 a 1 2
cosd45 =cos—=—=—=—-—
4 ¢ 2 2
tan45° —tanz é=1=1
4 a 1
cot45° —cotz g:1:1
4 b 1
csc45’ —cscz E:Q: 2
4 b 1
secd5” =sec” = E:Q— 2
4 g 1
sin60°=sin£=lZ £00s60 —cos” = g=1
c 3 ¢ 2
tan60° = tan - _ 5in60° ﬁ/ 2:£:ﬁ
3 cos60° 12 1
. Vd 1 1 3
cot60” =cot—= ="
tan 60° f 3
csc60° = cse = 1 L—l_&
3 sin60° 32 3 3
sec60° = sec” = ! —L—2
cos60’ 1/2

a=1
F=d*+b F=1+1 =2
c=-2
N
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30°BON,
2 \\2
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\
\
60" | ___ 60
a a
2a=2soa=1 2>=1+b
2 2 2
* =a® +b? b*=2"-1"=4-1=3
b=-/3
sin30° —smg 4 ! c0s30° —cosz ézj
6 C 2 6 c 2
tan30° = tan” = sin30° _ 12 1 _3
6 cos30° «5/2 J303
cot30° = cot ~ = I Ozizﬁ
6 tan30" 1/~/3
cse30° = csc = ' 1 :i:
6 sin30° 12
sec30° =sec” = 11 2 23
6 cos30° ~/3/2 3 3




Use a calculator to find the approximate

value of

(a) sin52° (b) tan% (c) sec%




